
■ かけ算の答えを筆算で考えましょう。

① 13 × 2 ＝ ⑥ 37 × 3 ＝ ⑪ 17 × 6 ＝

× × ×

② 41 × 9 ＝ ⑦ 19 × 8 ＝ ⑫ 67 × 7 ＝

× × ×

③ 21 × 4 ＝ ⑧ 43 × 6 ＝ ⑬ 54 × 2 ＝

× × ×

④ 21 × 3 ＝ ⑨ 81 × 6 ＝ ⑭ 18 × 2 ＝

× × ×

⑤ 77 × 9 ＝ ⑩ 39 × 8 ＝ ⑮ 17 × 7 ＝

× × ×
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■ かけ算の答えを筆算で考えましょう。

① 13 × 2 ＝ ⑥ 37 × 3 ＝ ⑪ 17 × 6 ＝

1 3 3 7 1 7

× 2 × 3 × 6

2 6 1 1 1 1 0 2

② 41 × 9 ＝ ⑦ 19 × 8 ＝ ⑫ 67 × 7 ＝

4 1 1 9 6 7

× 9 × 8 × 7

3 6 9 1 5 2 4 6 9

③ 21 × 4 ＝ ⑧ 43 × 6 ＝ ⑬ 54 × 2 ＝

2 1 4 3 5 4

× 4 × 6 × 2

8 4 2 5 8 1 0 8

④ 21 × 3 ＝ ⑨ 81 × 6 ＝ ⑭ 18 × 2 ＝

2 1 8 1 1 8

× 3 × 6 × 2

6 3 4 8 6 3 6

⑤ 77 × 9 ＝ ⑩ 39 × 8 ＝ ⑮ 17 × 7 ＝

7 7 3 9 1 7

× 9 × 8 × 7

6 9 3 3 1 2 1 1 9

84 258 108

26 111 102

369 152 469

63 486 36

693 312 119
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